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(*) Instructions to candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.
3) Use of scientific calculator is allowed.

4) Assume suitable data where ever required.

Q1) Attempt any one

a) Define ‘Resultant’ (8]
Determine the resultant of the three forces acting on a hook as shown in
fig.

b) Find the resultant in magnitude and direction for the force system
shown in fig. Each square has side 0.25m.Also determine the position of
the resultant on the line AD. (8]

200N

600 N




Q 2) Attempt any one
a) Explain any two types of supports with sketch.

A beam is loaded as shown in fig. Find Calculate the reactions at support
A and B (8]
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b) Comment on, “Always coefficient of static friction is greater than
coefficient of kinetic friction”.

A block of mass 150 kg is to be raised by 10° wedge weighting 50 kg.

Find horizontal force ‘P’ which will just start to move if coefficient of friction

for all surfaces of contact is 0.3 for all contact surfaces [8]
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Q 3) Attempt any one.

a) Locate Y’ coordinate of the centroid of shaded area as shown in
figure.
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b) Find the centroidal moment of inertia( Ixx, Iyy) and radius of gyration (Kx,

Ky) of a rectangular section of size 30X40mm (b X d).
[4]



